# The stochastic Heat Equation With Ito-Taylor Expansion 

[Fikriye Nuray Yılmaz, Emine Cengizhan]


#### Abstract

In this paper, we analyze the numerical solution of the stochastic heat equation by using Ito-Taylor series expansion. We first use the finite difference method to discretize the space variable. Then, we apply Ito formula successively to get the numerical scheme.


Keywords-The stochastic heat equation, finite difference, Ito-Taylor expansion.

## I. Introduction

There has been a great interest in the numerical methods of SDEs in finance, medicine and the modern technologies [2, 3, 4, 6, 7]. As a result of the growth in science and the applications, SDEs are an emerging subject of interest. Stochastic Taylor expansion provides a source for the discrete-time approximation methods. One of the simplest ways to discretize the process is Euler method. The Milstein scheme [11], which has the order 1.0 of strong convergence, is stronger than Euler method. By adding more stochastic integrals using the stochastic Taylor expansion, more accurate schemes can be obtained [ 8].

Recently, there have been various studies of stochastic partial differential equations [1, 5, 9, 10]. Generally, we can not find the analytical solutions of SPDEs. So that numerical methods have been getting an important issue. In this work, we consider the stochastic heat equation. We apply the finite difference scheme to get a discretization in space. Then, the integral form of the eqution is considered with Ito formula. It is applied to the heat equation successively to get the numerical scheme.

## i. Stochastic heat equation

We consider the one dimensional stochastic partial differential equation of the form

$$
\left\{\begin{array}{c}
d u(t, x)=\left(\frac{\partial^{2}}{\partial x^{2}} u(t, x)\right) d t+d Z_{t}, \quad t \geq 0 \\
u(0, x)=u_{0}(x), \\
u(t, x)=u(t, 1)=0, \quad t \geq x \leq 1
\end{array}\right.
$$

where $Z_{t}$ denotes the one dimensioanl additive Brownian motion.

Fikriye Nuray Yılmaz
Gazi University, Turkey

## iII. Discretization

We apply the Ito-Taylor method to the time variable, we use a finite difference scheme to approximate the space variable.

For space variable, $0 \leq x_{0} \leq x_{1} \leq \cdots \leq x_{j} \leq \cdots \leq x_{M}=$ 1 denotes the equispaced discretization of time space interval $[0,1]$. Then, by applying the second-order central difference scheme for the space variable, we get
$d u_{t}^{j}=\left(\frac{u_{t}^{j-1}-2 u_{t}^{j}+u_{t}^{j+1}}{h^{2}}\right) d t+d Z_{t}$

Here, $h=x_{j+1}-x_{j}=\frac{1}{M} \quad(j=0,1, \ldots, M-1)$ and for $u_{t}^{0}=u_{t}^{M}=0$ we have
$d u_{t}^{1}=\left(\frac{u_{t}^{0}-2 u_{t}^{1}+u_{t}^{2}}{h^{2}}\right) d t+d Z_{t}$,
$d u_{t}^{2}=\left(\frac{u_{t}^{1}-2 u_{t}^{2}+u_{t}^{3}}{h^{2}}\right) d t+d Z_{t}$,
$d u_{t}^{j}=\left(\frac{u_{t}^{j-1}-2 u_{t}^{j}+u_{t}^{j+1}}{h^{2}}\right) d t+d Z_{t}$,
$d u_{t}^{M}=\left(\frac{u_{t}^{M-1}-2 u_{t}^{M}+u_{t}^{M+1}}{h^{2}}\right) d t+d Z_{t}$
In matrix notation, we have

$$
d \mathbb{U}_{t}=\mathbb{A}_{t} \mathbb{U}_{t} d t+d \mathbb{Z}_{t}
$$

$\mathbb{A}_{t}=$
$\left(\begin{array}{cccccc}\frac{-2}{h^{2}} & \frac{1}{h^{2}} & 0 & \cdots & \cdots & \cdots \\ \frac{1}{h^{2}} & \frac{-2}{h^{2}} & \frac{1}{h^{2}} & 0 & \cdots & \cdots \\ 0 & \frac{1}{h^{2}} & \frac{-2}{h^{2}} & \frac{1}{h^{2}} & 0 & \cdots \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ \cdots & \cdots & \cdots & \cdots & \frac{1}{h^{2}} & \frac{-2}{h^{2}}\end{array}\right)_{(M-1) \times(M-1)}$
$\mathbb{U}_{t}=\left(u_{t}^{1}, u_{t}^{2}, \ldots, u_{t}^{M-1}\right)^{T}, \quad$ and $d \mathbb{Z}_{t}=\left(d Z_{t}, \ldots, d Z_{t}\right)^{T}$
$j^{\text {th }}$ component of the Euler scheme can be obtained as follows:

$$
\begin{gathered}
u_{t+1}^{j}=u_{t}^{j}+\left(\frac{u_{t}^{j-1}-2 u_{t}^{j}+u_{t}^{j+1}}{h^{2}}\right) \Delta+\Delta Z \\
j=(1,2, \ldots, M-1)
\end{gathered}
$$

$j^{\text {th }}$ component of theMilstein scheme is

$$
\begin{aligned}
& u_{t+1}^{j}=u_{t}^{j}+\left(\frac{u_{t}^{j-1}-2 u_{t}^{j}+u_{t}^{j+1}}{h^{2}}\right) \Delta+\Delta Z \\
& +\frac{1}{2}\left(\left(\Delta Z^{j}\right)^{2}-\Delta\right) \\
& j=(1,2, \ldots, M-1)
\end{aligned}
$$

## iv. Ito-Taylor Expansion

In this section, we will assume that the Brownian motions are independent. Now, consider

$$
\begin{equation*}
\mathrm{d} \mathbb{X}_{t}=\mathbb{A l d t}+\mathbb{H} \mathrm{d} \mathbb{Z}_{t} \tag{1}
\end{equation*}
$$

Eqn. (1) can be written in integral form as
$\mathbb{X}_{t}=\mathbb{X}_{t_{0}}+\int_{t_{0}}^{t} \mathbb{A}\left(\mathrm{~s}, \mathbb{X}_{s}\right) d s+\int_{t_{0}}^{t} \mathbb{H}\left(\mathrm{~s}, \mathbb{X}_{s}\right) d \mathbb{Z}_{s}$
The second integral is called Ito stochastic integral, which is defined by K. Ito in 1940. This integral can be approximated by stochastic Taylor method.

We consider now the $k^{\text {th }}$ component of the system of stochastic differential equations in Eqn. 1

$$
\begin{aligned}
& d X_{t}^{k}=a_{k}\left(t, \mathbb{X}_{t}\right) d t+\sum_{j=1}^{n} h_{k j}\left(t, \mathbb{X}_{t}\right) d \mathbb{Z}_{t}^{j} \\
& \quad(k=1,2, \ldots, d)
\end{aligned}
$$

Here, $a_{k}\left(t, \mathbb{X}_{t}\right)=\left(t, X_{t}^{1}, \ldots, X_{t}^{d}\right)$ ve $h_{k j}\left(t, \mathbb{X}_{t}\right)=$ $\left(t, X_{t}^{1}, \ldots, X_{t}^{d}\right)$

And,

$$
\begin{equation*}
X_{t}^{k}=X_{t_{0}}^{k}+\int_{t_{0}}^{t} a_{k}\left(s, \mathbb{X}_{s}^{k}\right) d s+\int_{t_{0}}^{t} h_{k j}\left(t, \mathbb{X}_{s}^{k}\right) d \mathbb{Z}_{s}^{k} \tag{2}
\end{equation*}
$$

We will apply Ito-Lemma to Eqn. 2. Let
$g\left(t, \mathbb{X}_{t}\right)=\left(g_{1}\left(t, \mathbb{X}_{t}\right), \ldots, g_{p}\left(t, \mathbb{X}_{t}\right)\right)^{T}$ and $Y_{t}=g\left(t, \mathbb{X}_{t}\right)$
$d Y_{t}^{l}=\frac{\partial g^{l}}{\partial t} d t+\sum_{i=1}^{d} \frac{\partial g^{l}}{\partial x^{i}} d X_{t}^{i}+\frac{1}{2} \sum_{i, j=1}^{d} \frac{\partial^{2} g^{l}}{\partial x^{i} x^{j}} d X_{t}^{i} d X_{t}^{j}$
where all derivatives of $\mathrm{g} \ell$ are to be evaluated in ( $\mathrm{t}, \mathrm{Xt}$ ) and Brownian motions are uncorrelated and, in here, we note that $\ell$ and k represent the $\ell$ th component of the function $g\left(t, \mathbb{X}_{t}\right)$ and the kth component of the system of SDEs of Eqn. (1), respectively. Before obtaining the Taylor series expansions, we define the following operators:
$\mathcal{L}^{0}:=\frac{\partial}{\partial t}+\sum_{i=1}^{d} a_{i} \frac{\partial}{\partial x^{i}}+\frac{1}{2} \sum_{i, j=1}^{d} \sum_{p=1}^{n} h_{j p} h_{i p} \frac{\partial^{2}}{\partial x^{i} \partial x^{j}}$,
ve
$\mathcal{L}^{j}=\sum_{p=1}^{d} h_{p j} \frac{\partial}{\partial x^{p}} \quad(j=1,2, \ldots, n)$
We have

$$
Y_{t}^{l}=Y_{t_{0}}^{l}+\int_{t_{0}}^{t} \mathcal{L}^{0} g^{l} d s+\sum_{j=1}^{n} \int_{t_{0}}^{t} \mathcal{L}^{j} g^{l} d Z_{s}^{j}
$$

Let $g^{l}:=a_{l}\left(t, \mathbb{X}_{t}\right) \quad(k=l)$ and $h^{l}:=h_{l j}\left(t, \mathbb{X}_{t}\right)$. Ito Lemma gives

$$
\begin{aligned}
X_{t}^{k}=X_{t_{0}}^{k}+\int_{t_{0}}^{t}[ & a_{k}\left(t_{0}, \mathbb{X}_{t_{0}}\right)+\int_{t_{0}}^{s} \mathcal{L}^{0} a_{k}\left(\tau, \mathbb{X}_{\tau}\right) d \tau \\
& \left.+\sum_{j=1}^{n} \int_{t_{0}}^{s} \mathcal{L}^{j} a_{k}\left(\tau, \mathbb{X}_{\tau}\right) d Z_{\tau}^{j}\right] d s \\
& +\sum_{j=1}^{n} \int_{t_{0}}^{t}\left[h_{k j}\left(t_{0}, \mathbb{X}_{t_{0}}\right)\right. \\
& +\int_{t_{0}}^{s} \mathcal{L}^{0} h_{k j}\left(\tau, \mathbb{X}_{\tau}\right) d \tau \\
& \left.+\sum_{i=1}^{n} \int_{t_{0}}^{s} \mathcal{L}^{l} h_{k j}\left(\tau, \mathbb{X}_{\tau}\right) d Z_{\tau}^{l}\right] d Z_{s}^{j}
\end{aligned}
$$

We apply Ito lemma to the functions $\mathcal{L}^{0} a_{k}, \quad \sum_{j=1}^{n} \mathcal{L}^{j} a_{k}$, $\mathcal{L}^{0} h_{k j}, \sum_{l=1}^{n} \mathcal{L}^{l} h_{k j}, \sum_{j, p=1}^{n} \mathcal{L}^{j} \mathcal{L}^{p} h_{k j}, \mathcal{L}^{0} \mathcal{L}^{0} a_{k}$,
$\sum_{j=1}^{n} \mathcal{L}^{0} \mathcal{L}^{j} a_{k}, \sum_{j, p=1}^{n} \mathcal{L}^{j} \mathcal{L}^{p} a_{k}, \mathcal{L}^{0} \mathcal{L}^{0} h_{k j}, \sum_{j, p=1}^{n} \mathcal{L}^{j} \mathcal{L}^{0} h_{k j}$, $\sum_{j, p=1}^{n} \mathcal{L}^{0} \mathcal{L}^{j} h_{k j}, \sum_{j=1}^{n} \mathcal{L}^{j} \mathcal{L}^{0} a_{k}$,

$$
\begin{aligned}
& X_{t}^{k}=X_{t_{0}}^{k}+a_{k}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{0}+\sum_{j=1}^{n} h_{k j}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{j} \\
& +\mathcal{L}^{0} a_{k}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{00} \\
& +\sum_{j=1}^{n} \mathcal{L}^{j} a_{k}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{j 0} \\
& +\sum_{j=1}^{n} \mathcal{L}^{0} h_{k j}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{0 j}+\sum_{l, j=1}^{n} \mathcal{L}^{l} h_{k j}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{l j} \\
& +\mathcal{L}^{0} \mathcal{L}^{0} a_{k}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{000}+\sum_{j=1}^{n} \mathcal{L}^{j} \mathcal{L}^{0} a_{k}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{j 00} \\
& +\sum_{j=1}^{n} \mathcal{L}^{0} \mathcal{L}^{j} a_{k}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{0 j 0} \\
& +\sum_{j, p=1}^{n} \mathcal{L}^{j} \mathcal{L}^{p} a_{k}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{j p 0}
\end{aligned}
$$

$$
\begin{aligned}
& \quad+\sum_{j=1}^{n} \mathcal{L}^{0} \mathcal{L}^{0} h_{k j}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{00 j}+ \\
& \sum_{l, j=1}^{n} \mathcal{L}^{l} \mathcal{L}^{0} h_{k j}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{l 0 j} \\
& +\sum_{l, j=1}^{n} \mathcal{L}^{0} \mathcal{L}^{l} h_{k j}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{0 l j} \\
& \quad+\sum_{j, p, l=1}^{n} \mathcal{L}^{l} \mathcal{L}^{p} h_{k j}\left(t_{0}, \mathbb{X}_{t_{0}}\right) I_{l p j}+R_{t},
\end{aligned}
$$

where
$R_{t}$
$=I_{0000}\left[\mathcal{L}^{0} \mathcal{L}^{0} \mathcal{L}^{0} a_{k}\right]_{t_{0}, t}+\sum_{j=1}^{n} I_{j 000}\left[\mathcal{L}^{j} \mathcal{L}^{0} \mathcal{L}^{0} a_{k}\right]_{t_{0}, t}$
$+\sum_{j=1}^{n} I_{0 j 00}\left[\mathcal{L}^{0} \mathcal{L}^{j} \mathcal{L}^{0} a_{k}\right]_{t_{0}, t}+\sum_{j, p=1}^{n} I_{p j 00}\left[\mathcal{L}^{p} \mathcal{L}^{j} \mathcal{L}^{0} a_{k}\right]_{t_{0}, t}$
$+\sum_{j=1}^{n} I_{00 j 0}\left[\mathcal{L}^{0} \mathcal{L}^{0} \mathcal{L}^{j} a_{k}\right]_{t_{0}, t}+\sum_{j, p=1}^{n} I_{p 0 j 0}\left[\mathcal{L}^{p} \mathcal{L}^{0} \mathcal{L}^{j} a_{k}\right]_{t_{0}, t}$
$+\sum_{j, p=1}^{n} I_{0 j p 0}\left[\mathcal{L}^{0} \mathcal{L}^{j} \mathcal{L}^{p} a_{k}\right]_{t_{0}, t}$
$+\sum_{j, p, l=1}^{n} I_{l j p 0}\left[\mathcal{L}^{l} \mathcal{L}^{j} \mathcal{L}^{p} a_{k}\right]_{t_{0}, t}$
$+\sum_{j=1}^{n} I_{000 j}\left[\mathcal{L}^{0} \mathcal{L}^{0} \mathcal{L}^{0} h_{k j}\right]_{t_{0}, t}+\sum_{j, p=1}^{n} I_{p 00 j}\left[\mathcal{L}^{p} \mathcal{L}^{0} \mathcal{L}^{0} h_{k j}\right]_{t_{0}, t}$
$+\sum_{j, l=1}^{n} I_{0 l 0 j}\left[\mathcal{L}^{0} \mathcal{L}^{l} \mathcal{L}^{0} h_{k j}\right]_{t_{0}, t}+\sum_{j, p, l=1}^{n} I_{p l 0 j}\left[\mathcal{L}^{p} \mathcal{L}^{l} \mathcal{L}^{0} h_{k j}\right]_{t_{0}, t}$
$+\sum_{j=1}^{n} I_{00 l j}\left[\mathcal{L}^{0} \mathcal{L}^{0} \mathcal{L}^{l} h_{k j}\right]_{t_{0}, t}$
$+\sum_{j, p, l=1}^{n} I_{p o l j}\left[\mathcal{L}^{p} \mathcal{L}^{0} \mathcal{L}^{l} h_{k j}\right]_{t_{0}, t}$
$+\sum_{j, p, l=1}^{n} I_{0 l p j}\left[\mathcal{L}^{0} \mathcal{L}^{l} \mathcal{L}^{p} h_{k j}\right]_{t_{0}, t}$
$+\sum_{j, p, l, r=1}^{n} I_{r l p j}\left[\mathcal{L}^{r} \mathcal{L}^{l} \mathcal{L}^{p} h_{k j}\right]_{t_{0}, t}$
dir.

## v. Numerical Application

We consider

$$
\left\{\begin{array}{c}
d u(t, x)=\frac{\partial^{2}}{\partial x^{2}} u(t, x) d t+d Z_{t}, \quad t \geq 0 \\
u_{t}(0)=u_{t}(1)=0, \quad t \geq 0 \\
u_{0}(x)=\sin (\pi x), \quad 0 \leq x \leq 1
\end{array}\right.
$$

We use MATLAB for implementation. In the figure we compare the results.


## vi. References

[1] A. Barth and A. Lang, Simulation of stochastic partial differential equations using finite element methods, Stochastics, An International Journal of Probability and Stochastic Processes, 84(2-3), 2012, pp. 217-231.
[2] H. Kunita, Stochastic Flows and Stochastic Differential Equations, Vol 24 of Cambridge Studies in Advanced Mathematics, Cambridge University Press, 1990.
[3] W. Rümelin., Numerical treatment of stochastic differential equations, SIAM J. Numer. Anal. 19, 1982, pp. 604-613.
[4] E. Platen, An introduction to numerical methods for stochastic differential equations, Acta Numerica, 8, 1999, pp. 197-246.
[5] A. Jentzen and P.E. Kloeden, The numerical approximation of stochastic partial differential equations, Milan J. Math., 77, 2009, pp. 205-244.
[6] D. Lamberton and B. Lapeyre, Intoduction to Stochastic Calculus Applied to Finance, Chapman Hall CRC, 1996.
[7] B. $\emptyset$ ksendal, Stochastic Differential Equations, An Introduction with Applications, 5. Edition, 2000.
[8] K. Ito, Stochastic Integral, Proc. Imperial Acad. Tokyo, 20, 1944, pp. 519-524.
[9] A. Jentzen and P.E. Kloeden, The numerical approximation of stochastic partial differential equations, Milan J. Math., 77, 2009, pp. 205-244.
[10] T. Zaripopolou and M. Musiela, Stochastic partial differential equations and portfolio choice., In: Chiarella C., Novikov, A., Contemporary Quantitative Finance, Springer, 2010, pp. 195-215 .
[11] G.N. Milstein, Numerical Integration of Stochastic Differential Equations, Kluwer, Dordrecht/Boston/London, 1995.

